G.S.- The Union Leqislature-2

1. /%T,hé State of Uttar Pradesh accounts
~tor
(a) 60 Lok Sabha seats
(b} 70 Lok Sabha seats
(c) 80 Lok Sabha seats
(d) 90 Lok Sabha seats

2. Representatives of Union Territories in
Lok Sabha are chosen by
(a) direct Election (b} indirect etection
{c) nomination (d) All of these

3. Money Bill

1. cannot be introduced in the Council of
States.

2. needs to be certified as such by the
Speaker.

3. can be amended by the Council of
States.

4. President has to assent it without delay.

Codes

(a)1,2,3and 4 (b)1,2and 4

)2, 3and 4 (d)2 and 4

4, The first female Speaker of Lok
Sabhais
{a} Vijay Laxmi Pandit
{o} Sucheta Kripalani
(c) Tarkeshwari Sinha
(d) Meira Kumar
5. What is the fix number of members of
Lok Sabha?
(a) 444 (D) 541 (c) 543 (d) 545
6., The first mid-term elections for Lok
Sabha were heid in
{a) 1962 (b) 1871 (c) 1977 (d) 1880

7. The Speaker’s vote in the Lok Sabha is
called
(a) casting vote (b} sound vote
(c) direct vote (d) indirect vote

8. As per the Constitution of India, how
many members are represented by the
Union Territories in the Lok Sabha?
{2) 18 (by20
(c) 22 (d) 24

9. The maximum strength of the Lok
Sabha, as stipuiated in the Constitution

of India, is
{a) 500 {b) 525
(c) 550 {d) 552

10. What could be the maximum time limit
of ‘Zerc Hour'? :
(a) 30 minutes (b) 1 hour
(c) 2 mour (d} Indefinite pericd
11.The Deputy Chairman of the Rajya
Sabha is
(a) nominated by the Chairman
{b) elected by elected members ot the
Rajya Sabha
{c) nominated by the President
{d) elected by the Rajya Sabha from
amongst its members

12.Which of the following statements
is/are correct?

1. The constitution lays down a special
procedure for the passing of Monay
Bills in the Parliament.

2. A Money Bill can only be introduced in
the Lok Sabha and that toc on the
recomimendation of the President.

3. If any question arises whether a Bill is
a Money Bill or not, the decision of the
President is final.

Codes

(a) 1and 3

(©) All of these

{b)1and 2
{d} None of these

13.The joint sitting of the House of people
and the Council of States s
summoned by
(a) the President
{b) the Speaker of Lok Sabha
{c) the Parliament
{d) the Chairman of Rajya Sabha

14, No Money Bill can be introduced in the
legislative assembly of a state, except
on the recommendations of
{a) the Parliament
{b) the Governor of the State
{c) the President of India
{d) a Special Committee of Ministers

15.The Parliament can legislate on a
subject in the state list
{a) by the wish of the President
{b) if the Rajya Sabha passes such a
resolution
(c) under any circumstances
(d) by asking the legislature of the
concerned state
16.Which of the following committees are
committees of Parliament?
1. Public Accounts Commitiee.
2. Estimate Committee.
3. Committee on Public Undertakings.
Codes .
(a) 1and 2
(c) 2and 3

(by1and 3
{d)1,2and 3

17.There is a Parliamentary System of
Government in India because the

{a) Lok Sabha is elected direcily by the
people.

(b} Parliament  can
Constitution.

{c) Rajya Sabha cannot be dissolved.

{d) Council of Ministers is responsibie to
the Lok Sabha.

18.Members of Rajya Sabha are not

associated with

1. Public Accounts Committee

2. Estimates Committee

3. Committee on Public Undertakings

Choose the right answer from the

options given below.

amend the

{8)1and 2 (b) Oniy 1

{c) Only 2 (d)1and3
19.Who presides the joint session of

Parliament?

(a) President of India
(b) Chairperson of Rajya Sabha
(¢} Senior most member of Parliament
(d) Speaker of Lok Sabha

20.8y which Blil the Government propose
collection of revenues for a year?

(a) Economic Bill (b} Finance Bili
(c} Supplementary Bill
(d) None of the above -
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1. 6% # UG A T ST B F L2
(a) FHEH T L& (b) WD B IR
(¢} HETTA= (cl)'\’TGﬂ'ﬁ'HTﬁﬂ Humefa

2, TG g SifEe WA Jarsl &1 gor
foa < weRal & | T T wegd Weey i
B =fe
(a) SUReA &R AdeF ¥ 9 Gow b
FEAT BN

(b) SR T8 ORI G wa &
FH-V-FH 2/3 9gAd BN

(c) SuRerd yd wagT F A wEd &
d-=hurs 9§79 g1

(d) SudreE # @ w1

3. T Fi doF ) sranm B w87
(a)m&;ﬂ% (o) Ry
c) M=
4, t@rra ArA-RHe wgEE *®  fEae
wiafferi & s F T S 3

(a)2 {b}4 {c)6 (dy 12

5. A & Aoy Sem TEn S W |
T 2
a) 530 ¥l ¥ 3w 20 Ww o A B
ofafaf gen 2 ey Il g1 T
sfgEe wEE [ TEEE (sftrea)
{b) 540 T & AR 10 WY vy = B
ufafaiy

(c) 525 vredl & 3l 15 W Vo0 & 6
afafafy
¢) 520 Tl & IR 25 Wy woy &=} ¥
yfefer
6. TfaaE ¥ fFa srgsds # o fadas W
oftvmy 2 87
(@) IFTEDE 119 (b) 3= 110
(¢) ITEFT 116 {d) ST=T 103
7. TS99 S w9 T i, g
(a) T 2 T4 §IE 9HH UH-SIUE HEwl
6 FEEF] YA & 9 8
(b) wel® 2 of ¥re wud vw-fogd gew f
W AT & e &
(c) TF 374 A1§ T TH-AETS wE A
WS WA g ATl §
() TAF 3 98 95 IS9P A wEEl B
WETA HATE B AR §

8. frafafas ¥ ¥ FA-w ua we 7 82
{a) TTAYT o IAPH T HET 250 B
{b) TrE Freava @ e §

() TTTRH & B-REE Ao TS T
af o) ity TR TeEE B o

(d) IRTAAT H TAF VY IR Y W A
4 el e omaves dhRwm @ dhed
! g0 Fraw fmar W @

9. ufrafivg 1 STeaE H i G 82
(a) Irgfey (o) HEITR
(c) T d) $f3e aRm

10, T TRAM ¥ wewd # frateat & Wy
B

(a) (b) =T&f
(c) T T T (d) TH-TIUTE GERH

11. e ¥ $9-8 09T 30 AW w
FrEiwe I o8 ¥ TIE 9 76 W T
= qr?

(a) 4047 Sfam S
(b) 4197 WfEEm wee
(c) 4247 wfdurF dwarE
(d) 448 Gferm dames

12. % ¢ =flgeT Y 991 % goF § g
frrfofiga % 4 wim frgs T &2
{a) HTY
{b) Y TTE TG
(c) P Af=FATE
(d) P, & feraa qen e 7R

13, i § v faed & o #

{a) Srea @ B wEA 0 w1 W R
IRt O =evw TR Rrea wH
EIGIE

{b) TR ¥ w9 W fHe g T8 8
TR, 91 59 8 qenfde freen wg o &

{c) 9gA9 T 8 WIHEd § ggAd I 3
wan &, @ = Ffe foven sa s

(d) fordt ) WEw gIRT Wow AAME g9 R
rezeT BT 39H Yoo vy fm T fofg
T Reen w1 @

14, SrFu Y sty gew dea fohde o
T 22
{a)543  (b)545 (c)547  (d) 362

15. Breras 1 foamed wiF 3 9 87
(@) Isuf {b) HETTH=AT
(o) AFAETE (0) afEmfRyg

16. wf=raftyg frfafaa & 2 fres woed=i
e e 47
(a) Yregufa (b) AT H
(c) TR (o) HITTer=AT

17. % safaa wiamfiog &1 w1 8w 22
() STBRTHT i W (b) TFo ¥l 91 Eaed
(c) FHE & WS (@) F 9

18. T T ufa w1 = A T Y W
FTHAL?

(@) & (o) =&t

c) WEH ¥ 3/4 TR g oG WRed W)

d) HEE & SgFT afdws § ya wgw
N1 UElg o B9 T

19. 97 9ra § TSE ¥ WeRy Wfd

T 47
(o) W W () B, UH IHGEA
tey B, sifde g89 (o) A w=h

20, FHA & RTC TR 317 TS Fal G20 17
{a)a¥ 1949 (byad 1952 g
{c) a9 1950 (yaf 1954
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Answer Key- %nqllsh

1. (b) 2.(a) 3.(b) 4.(d) 5.(d) 6.(b) 7.(a) 8.(b) 9.(d) 10.(b)
11.(d) 12.(b) 13.(a) 14.(c) 15.(b) 16.(d) 17.(d) 18.(c) 19.(d) 20.(b)

G.S.- The Union Legislature-2
Answer Key-Hindi

1.(a) 2.(b) 3.(a) 4.(a) 5.(a) 6.(b) 7.(b) 8.(c) 9.(b) 10.(b)
11. (c) 12.(a) 13.(d) 14.(d) 15.(a) 16.(a) 17.(d) 18.(b) 19.(b) 20.(b)
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